2 RBIE R e

Y-EIZR-2

MOUONNNNNNNNNNNANNNNNNDN

(1=v )

500

ALY

410

20

620

400

28 D

1205

100

75

68

396

100

42

_-B

_—D

75
135.5
254.5

410

—C

L2403
DL RR—2

&
o]
TN
[: RiA O E E
o
S
100 1370 100
) 1570
k =3
110
o
S
110 =
9
= )
“ 1570
= 1490 4— 412
o
S B =
L
=
175 1535 175

22 n_ %
A [REaEE (OL7) | 69.52

B [#BA2EE (7L7)| 615.88

C [FLv#xD PTI—25A
D [mEsiekO PT1/2-15A
E [mmmAD

F [srmsgsy 22

#RRT GAUP1402, 1602M7N-LA

B GAUP M7N

| o=

RiTE

§I’qﬂ9bﬁ1l (EIUTL INED

1)

CAEE]

190208 MPCOOOZ716 /a\ 11




